McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Electronic supplementary material S1. Study area



Figure S1-1. Our study area, southeast Queensland, contains approximately 2.1 million ha of woody vegetation and is situated on the east coast of Australia. Size distribution data were collected from 30 sites across the region, covering the three main vegetation types: heath shrublands (red, five sites), subtropical rainforest (green, five sites), and *Eucalyptus* spp. dominated sclerophyll forest (yellow, 20 sites; some points overlap in the figure).

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Electronic supplementary material S2. Functional trait data sources

Table S2-1. Functional trait data for the species that were not measured directly by the authors were obtained from a range of sources. Values indicate the number of unique species each source contributed to the overall data set for three traits: maximum height (Height), specific leaf area (SLA), and wood density (WD).

Reference	Height	SLA	WD
Boland, <i>et al.</i> [1]	4	0	2
Cause, et al. [2]	0	0	7
Chaturvedi and Raghubanshi [3]	0	0	1
Chave, <i>et al.</i> [4]*	0	0	2
Choat, <i>et al.</i> [5]*	0	0	1
Clarke, et al. [6]	0	0	0
Cunningham, et al. [7]	0	1	0
Curran, <i>et al.</i> [8]	0	1	0
Dwyer and Mason [9]	0	1	0
Falster and Westoby [10]	0	1	0
Falster and Westoby [11]	0	1	0
Falster and Westoby [12]	0	2	0
Floyd [13]	7	0	0
Fonseca, et al. $[14]^*$	0	17	0
Gallagher, et al. [15]	0	1	0
Gallagher and Leishman [16]	0	13	0
Green and Juniper [17]	0	0	0
Grubb and Metcalfe [18]	0	0	0
Grubb, <i>et al.</i> [19]	0	0	0
Hamilton, et al. [20]	0	2	0
Harden, et al. [21]	8	0	0
Hunt, <i>et al.</i> [22]	0	1	0
Knox and Clarke [23]	0	3	2
Kooyman and Westoby [24]	0	0	11
Lake [25]	0	0	1
Lal, <i>et al.</i> [26]	0	1	0
Leiper, et al. [27]	18	0	0
Lindsay and French [28]	0	1	0
Mokany, <i>et al.</i> [29]	119	0	0
Moles and Westoby [30]	0	1	0
Ordonez, et al. [31]	0	15	0
Osunkoya, <i>et al.</i> [32]	0	1	0
Peñuelas, et al. [33]*	0	2	0
Poorter, <i>et al.</i> [34]*	0	7	0
Poropat [35]	0	0	1
Poropat [36]	0	0	9
Read and Sanson [37]	0	1	0
Reich, et al. [38]*	0	0	1
Royal Botanic Gardens Kew [39]	0	0	0

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Reference	Height	SLA	WD
Sams, et al. [40]	0	3	0
Shiels and Drake [41]	0	0	0
Shipley [42]*	0	4	0
Stanley and Ross [43]	78	0	0
Tng, et al. [44]	0	10	2
Westoby, et al. [45]	0	0	0
Wright and Westoby [46]	0	3	0
Wright, et al. [47]	0	1	0
Zanne, <i>et al.</i> [48]	0	0	117
Zheng and Shangguan [49]	0	1	0

* Accessed through the TRY functional trait database [50].

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Electronic supplementary material S2 references

1. Boland DJ, Brooker MIH, Chippendale GM, Hall N, Hyland BPM, Johnson RD, Kleinig DA, McDonald MW, Turner JD. 2006 *Forest Trees of Australia*. Fifth ed. Melbourne, Australia, CSIRO Publishing; 736 p

Cause ML, Rudder EJ, Kynaston WT. 1989 *Queensland Timbers: Their Nomenclature, Density and Lyctid Susceptibility*. Brisbane, Australia, Department of Forestry, Queensland;
 Chaturvedi RK, Raghubanshi AS. 2013 Aboveground biomass estimation of small diameter woody species of tropical dry forest. *New For.* 44, 509–519. (doi:10.1007/s11056-012-9359-z)

4. Chave J, Coomes D, Jansen S, Lewis SL, Swenson NG, Zanne AE. 2009 Towards a worldwide wood economics spectrum. *Ecol. Lett.* **12**, 351–366. (doi:10.1111/j.1461-0248.2009.01285.x)

5. Choat B, *et al.* 2012 Global convergence in the vulnerability of forests to drought. *Nature* **491**, 752–755. (doi:10.1038/nature11688)

6. Clarke PJ, Davison EA, Fulloon L. 2000 Germination and dormancy of grassy woodland and forest species: effects of smoke, heat, darkness and cold. *Aust. J. Bot.* **48**, 687–699. (doi:10.1071/BT99077)

7. Cunningham SA, Summerhayes B, Westoby M. 1999 Evolutionary divergences in leaf structure and chemistry, comparing rainfall and soil nutrient gradients. *Ecol. Monogr.* **69**, 569–588. (doi:10.1890/0012-9615(1999)069[0569:EDILSA]2.0.CO;2)

 8. Curran TJ, Brown RL, Edwards E, Hopkins K, Kelley C, McCarthy E, Pounds E, Solan R, Wolf J. 2008 Plant functional traits explain interspecific differences in immediate cyclone damage to trees of an endangered rainforest community in north Queensland. *Austral Ecol.* 33, 451–461. (doi:10.1111/j.1442-9993.2008.01900.x)

9. Dwyer JM, Mason R. 2018 Plant community responses to thinning in densely regenerating *Acacia harpophylla* forest. *Restor. Ecol.* **26**, 97–105. (doi:10.1111/rec.12536)

10. Falster DS, Westoby M. 2003 Leaf size and angle vary widely across species: what consequences for light interception? *New Phytol.* **158**, 509–525. (doi:10.1046/j.1469-8137.2003.00765.x)

11. Falster DS, Westoby M. 2005 Alternative height strategies among 45 dicot rain forest species from tropical Queensland, Australia. *J. Ecol.* **93**, 521–535. (doi:10.1111/j.1365-2745.2005.00992.x)

12. Falster DS, Westoby M. 2005 Tradeoffs between height growth rate, stem persistence and maximum height among plant species in a post-fire succession. *Oikos* **111**, 57–66. (doi:10.1111/j.0030-1299.2005.13383.x)

13. Floyd AG. 2008 *Rainforest Trees of Mainland South-eastern Australia*. Lismore, Australia, Terania Rainforest Publishing; 443 p

14. Fonseca CR, Overton JM, Collins B, Westoby M. 2000 Shifts in trait-combinations along rainfall and phosphorus gradients. *J. Ecol.* **88**, 964–977. (doi:10.1046/j.1365-2745.2000.00506.x)

15. Gallagher RV, Leishman MR, Miller JT, Hui C, Richardson DM, Suda J, Trávníček P. 2011 Invasiveness in introduced Australian acacias: The role of species traits and genome size. *Divers. Distrib.* **17**, 884–897. (doi:10.1111/j.1472-4642.2011.00805.x)

16. Gallagher RV, Leishman MR. 2012 A global analysis of trait variation and evolution in climbing plants. *J. Biogeogr.* **39**, 1757–1771. (doi:10.1111/j.1365-2699.2012.02773.x)

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

17. Green PT, Juniper PA. 2004 Seed mass, seedling herbivory and the reserve effect in tropical rainforest seedlings. *Funct. Ecol.* **18**, 539–547. (doi:10.1111/j.0269-8463.2004.00881.x)

18. Grubb PJ, Metcalfe DJ. 1996 Adaptation and inertia in the Australian tropical lowland rain-forest flora: Contradictory trends in intergeneric and intrageneric comparisons of seed size in relation to light demand. *Funct. Ecol.* **10**, 512–520. (doi:10.2307/2389944)

19. Grubb PJ, Metcalfe DJ, Grubb EAA, Jones GD. 1998 Nitrogen-richness and protection of seeds in Australian tropical rainforest: A test of plant defence theory. *Oikos* **82**, 467–482. (doi:10.2307/3546368)

20. Hamilton MA, Murray BR, Cadotte MW, Hose GC, Baker AC, Harris CJ, Licari D. 2005 Life-history correlates of plant invasiveness at regional and continental scales. *Ecol. Lett.* **8**, 1066–1074. (doi:10.1111/j.1461-0248.2005.00809.x)

21. Harden G, Nicholson H, McDonald B, Nicholson N, Tame T, Williams J. 2014 Rainforest Plants of Australia: Rockhampton to Victoria. See

22. Hunt MA, Murray KE, Battaglia M, Mathers NJ. 2007 Determination of specific leaf area of some commercially useful sub-tropical hardwood species. *Aust. Forestry* **70**, 158–166. (doi:10.1080/00049158.2007.10675016)

23. Knox KJE, Clarke PJ. 2011 Fire severity and nutrient availability do not constrain resprouting in forest shrubs. *Plant Ecol.* 212, 1967–1978. (doi:10.1007/s11258-011-9956-5)
24. Kooyman RM, Westoby M. 2009 Costs of height gain in rainforest saplings: Main-stem scaling, functional traits and strategy variation across 75 species. *Ann. Bot.* 104, 987–993. (doi:10.1093/aob/mcp185)

25. Lake M. 2015 *Australian Rainforest Woods*. Clayton, Australia, CSIRO Publishing; 208 p 26. Lal CB, Annapurna C, Raghubanshi AS, Singh JS. 2001 Effect of leaf habit and soil type on nutrient resorption and conservation in woody species of a dry tropical environment. *Can. J. Bot.* **79**, 1066–1075. (doi:10.1139/b01-077)

27. Leiper G, Glazebrook J, Cox D, Rathie K. 2008 *Mangroves to Mountains*. Brisbane, Australia, Society for Growing Australian Plants (Queensland Region) Inc.;

28. Lindsay EA, French K. 2004 *Chrysanthemoides monilifera* ssp. *rotundata* invasion alters decomposition rates in coastal areas of south-eastern Australia. *For. Ecol. Manage.* **198**, 387–399. (doi:10.1016/j.foreco.2004.05.032)

29. Mokany K, Thomson JJ, Lynch AJJ, Jordan GJ, Ferrier S. 2015 Linking changes in community composition and function under climate change. *Ecol. Appl.* **25**, 2132–2141. (doi:10.1890/14-2384.1)

30. Moles AT, Westoby M. 2004 Seed mass and seedling establishment after fire in Ku-ringgai Chase National Park, Sydney, Australia. *Austral Ecol.* **29**, 383–390. (doi:10.1111/j.1442-9993.2004.01374.x)

31. Ordonez A, Wright IJ, Olff H. 2010 Functional differences between native and alien species: A global-scale comparison. *Funct. Ecol.* **24**, 1353–1361. (doi:10.1111/j.1365-2435.2010.01739.x)

32. Osunkoya OO, Bayliss D, Panetta FD, Vivian-Smith G. 2010 Variation in ecophysiology and carbon economy of invasive and native woody vines of riparian zones in South-Eastern Queensland. *Austral Ecol.* **35**, 636–649. (doi:10.1111/j.1442-9993.2009.02071.x)

33. Peñuelas J, Sardans J, Llusià J, Owen SM, Carnicer J, Giambelluca TW, Rezende EL, Waite M, Niinemets Ü. 2010 Faster returns on 'leaf economics' and different biogeochemical niche in invasive compared with native plant species. *Global Change Biol.* **16**, 2171–2185. (doi:10.1111/j.1365-2486.2009.02054.x)

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

34. Poorter H, Niinemets Ü, Poorter L, Wright IJ, Villar R. 2009 Causes and consequences of variation in leaf mass per area (LMA): a meta-analysis. *New Phytol.* **182**, 565–588. (doi:10.1111/j.1469-8137.2009.02830.x)

35. Poropat P. 2009 *Barks and Trunks: Rainforest Trees of South-eastern Australia*. Goonellabah, Australia, Dragonwick Publishing; 98 p

36. Poropat P. 2013 *Barks and Trunks: Rainforest Trees of Eastern Australia, Volume 2.* Goonellabah, Australia, Dragonwick Publishing; 180 p

37. Read J, Sanson GD. 2003 Characterizing sclerophylly: the mechanical properties of a diverse range of leaf types. *New Phytol.* 160, 81–99. (doi:10.1046/j.1469-8137.2003.00855.x)
38. Reich PB, Oleksyn J, Wright IJ. 2009 Leaf phosphorus influences the photosynthesis-nitrogen relation: A cross-biome analysis of 314 species. *Oecologia* 160, 207–212. (doi:10.1007/s00442-009-1291-3)

39. Royal Botanic Gardens Kew. 2014 Seed Information Database (SID). Version 7.1. (40. Sams MA, Lai HR, Bonser SP, Vesk PA, Kooyman RM, Metcalfe DJ, Morgan JW, Mayfield MM. 2017 Landscape context explains changes in the functional diversity of regenerating forests better than climate or species richness. *Global Ecol. Biogeogr.* **26**, 1165– 1176. (doi:10.1111/geb.12627)

41. Shiels AB, Drake DR. 2011 Are introduced rats (*Rattus rattus*) both seed predators and dispersers in Hawaii? *Biol. Invasions* **13**, 883–894. (doi:10.1007/s10530-010-9876-7) 42. Shipley B. 2002 Trade-offs between net assimilation rate and specific leaf area in determining relative growth rate: Relationship with daily irradiance. *Funct. Ecol.* **16**, 682–689. (doi:10.1046/j.1365-2435.2002.00672.x)

43. Stanley TD, Ross EM. 1983 *Flora of South-eastern Queensland*. Brisbane, Australia, Queensland Department of Primary Industries;

44. Tng DYP, Jordan GJ, Bowman DMJS. 2013 Plant traits demonstrate that temperate and tropical giant eucalypt forests are ecologically convergent with rainforest not savanna. *PLoS ONE*, e84378. (doi:10.1371/journal.pone.0084378)

45. Westoby M, Rice B, Howell J. 1990 Seed size and plant growth form as factors in dispersal spectra. *Ecology* **71**, 1307–1315. (doi:10.2307/1938268)

46. Wright IJ, Westoby M. 2002 Leaves at low versus high rainfall: coordination of structure, lifespan and physiology. *New Phytol.* **155**, 403–416. (doi:10.1046/j.1469-8137.2002.00479.x) 47. Wright IJ, *et al.* 2004 The worldwide leaf economics spectrum. *Nature* **428**, 821–827. (doi:10.1038/nature02403)

48. Zanne AE, Lopez-Gonzalez G, Coomes DA, Ilic J, Jansen S, Lewis SL, Miller RB, Swenson NG, Wiemann MC, Chave J. 2009 Data from: Towards a worldwide wood economics spectrum. Dryad Digital Repository. (doi:10.5061/dryad.234)

49. Zheng S, Shangguan Z. 2007 Spatial patterns of photosynthetic characteristics and leaf physical traits of plants in the Loess Plateau of China. *Plant Ecol.* **191**, 279–293. (doi:10.1007/s11258-006-9242-0)

50. Kattge J, *et al.* 2011 TRY – a global database of plant traits. *Global Change Biol.* **17**, 2905–2935. (doi:10.1111/j.1365-2486.2011.02451.x)

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Electronic supplementary material S3. Site-level size distributions



Figure S3-1. Continuous size distributions for all our 30 sites measured across three broad vegetation types in southeast Queensland: sclerophyll (yellow text), heath (red text) and rainforest (green text). Solid lines show the actual exponent of each site determined using maximum likelihood (see Methods in main text) and dotted lines show the -2 exponent assumed by MST to be universal. Values of actual exponent and goodness of fit to a power law (GOF; another MST assumption) are shown for each site.

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Table S3-1. Results from analyses of continuous size distributions from all our 30 sites measured across three broad vegetation types in southeast Queensland. Values of the actual exponent and goodness of fit to power law (GOF) are as presented in figure S3-1. Test statistics and *P* values are from comparisons between two models; one where we estimated the scaling exponent from the data, and a simpler model with the exponent fixed at –2; using one-sided Vuong's likelihood ratio tests (see Methods in main text). Δ AIC values between the two models are also provided. Only 6/30 sites had estimated exponents that were statistically equivalent to the –2 MST prediction (*P* > 0.05), but Δ AIC values indicated that four of these sites had better fits when the exponent was estimated (Δ AIC > 2), despite the added complexity of estimating this parameter. Thus, the –2 MST prediction received strong statistical support from just two sites (18 and 22; bold text).

Site	Vegetation type	Exponent	GOF	Test statistic	Р	ΔΑΙΟ
1	Sclerophyll	-1.52	0.61	3.776	< 0.001	54.112
2	Heath	-1.91	0.81	3.246	0.001	18.014
3	Heath	-2.83	0.34	49.544	< 0.001	1942.839
4	Heath	-2.12	0.86	5.051	< 0.001	44.139
5	Sclerophyll	-2.99	0.76	4.153	< 0.001	164.116
6	Rainforest	-2.28	0.42	4.232	< 0.001	65.922
7	Sclerophyll	-1.90	0.51	0.978	0.164	2.610
8	Sclerophyll	-1.70	0.49	1.555	0.060	12.353
9	Rainforest	-1.83	0.81	4.209	< 0.001	40.376
10	Sclerophyll	-1.47	0.72	2.865	0.002	27.664
11	Heath	-2.34	0.86	17.096	< 0.001	468.751
12	Sclerophyll	-1.79	0.75	3.197	0.001	24.310
13	Sclerophyll	-2.33	0.31	3.599	< 0.001	52.587
14	Sclerophyll	-1.68	0.64	2.535	0.006	24.559
15	Sclerophyll	-2.52	0.87	5.279	< 0.001	163.270
16	Sclerophyll	-1.58	0.68	1.831	0.034	14.614
17	Sclerophyll	-1.81	0.90	2.243	0.012	16.175
18	Sclerophyll	-1.90	0.67	0.847	0.199	1.078
19	Sclerophyll	-1.86	0.70	1.314	0.094	4.688
20	Rainforest	-1.86	0.93	2.792	0.003	23.050
21	Sclerophyll	-1.67	0.46	2.286	0.011	25.064
22	Rainforest	-1.96	0.95	0.770	0.221	0.423
23	Sclerophyll	-1.55	0.59	2.914	0.002	39.635
24	Heath	-5.25	0.02	28.491	< 0.001	3876.580
25	Sclerophyll	-1.80	0.70	4.159	< 0.001	28.470
26	Sclerophyll	-1.90	0.90	1.513	0.065	5.815
27	Sclerophyll	-1.67	0.71	5.404	< 0.001	85.162
28	Rainforest	-2.06	0.84	2.042	0.021	7.381
29	Sclerophyll	-1.64	0.68	2.396	0.008	25.789
30	Sclerophyll	-1.43	0.65	4.870	< 0.001	69.595

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Electronic supplementary material S4. Analyses repeated including removed outlier plot.

To avoid violating model assumptions, we removed one outlier heath site in the analyses presented in figures 2-4 in the main text, and tables S5-1 & S5-2. Here, we present a repeat of the analyses included in the main text exploring relationships between MST assumptions (scaling exponents [-2] and power law goodness of fit values), environmental and community-weighted mean (CWM) functional trait variables, and our three estimates of MST-calculated relative productivity (B_{tot}) and remote-sensed gross primary productivity (GPP) with the outlier heath site included. In all cases, slope directions are consistent with and without the outlier heath site (figures S4-1 - S4-3, tables S4-1 & S4-2; also see figures 2-4 in the main text, and tables S5-1 & S5-2). When including the outlier, however, there is no support for a statistically significant relationship between scaling exponent and soil sand content (P = 0.010 vs P = 0.202; tables S4-1a & S5-1a) but support remains for the aridity index, fire frequency, and their interaction. Also, support for a statistically significant relationship between goodness of fit to power law and CWM specific leaf area is reduced (P = 0.003 to P = 0.055; tables S5-1d & S4-1d), and there is no longer marginal significance for the relationship with wood density. Given we were limited to a relatively small number of sites in this study (30), and that many of our covariates are marginally significant, it is highly likely that collection of additional data would yield more significant results. There are no major differences between the analyses of B_{tot} and GPP when the outlier site is removed.



Figure S4-1. Relationships between size distribution exponents and site-level variables for models, including (a) soil sand content, and an interaction between fire frequency and aridity; and (b) community-weighted means for three functional traits: maximum height, specific leaf area (SLA), and wood density. This analysis is a repeat of figure 2 in the main text but includes the removed outlier heath site (identified with a grey circle). The lines are fitted relationships, and grey shading indicates 95% confidence intervals. The shaded lines indicate significance at P < 0.05. When each bivariate relationship (and the interaction) was fitted, all other covariates were held at their mean values.



Figure S4-2. Relationships between the degree to which the size distribution of a site follows a power law (goodness of fit), one of the main assumptions of metabolic scaling theory, and three community-level functional traits: maximum height, specific leaf area (SLA), and wood density. This analysis is a repeat of figure 3 in the main text but includes the removed outlier heath site (identified with a grey circle). A model with environmental predictor variables was also fitted for goodness of fit, like figure S4-1a, but these relationships were all non-significant. The lines are fitted relationships, and grey shading indicates 95% confidence intervals. The shaded line indicates significance at P < 0.05. Panels without lines have non-significant relationships. When each bivariate relationship was fitted, all other covariates were held at their mean values.



Figure S4-3. Relationship between metabolic scaling theory (MST)-calculated relative productivity (B_{tot}) and remote-sensed gross primary productivity (GPP). Here, we show B_{tot} calculated three different ways: using the MST-assumed power law and -2 size distribution exponent (-2 exponent estimate); using the power law and the actual exponent (actual exponent estimate); and using neither the power law nor an exponent (actual size distribution estimate). This analysis is a repeat of figure 4 in the main text but includes the removed outlier heath site (identified with a grey circle). There was a significant relationship between B_{tot} and GPP in (c), when MST assumptions were relaxed and B_{tot} was calculated using actual stand properties. The lines show fitted relationships, with grey shading indicating 95% confidence intervals. Panels without lines have non-significant relationships.

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Table S4-1. Model coefficients from the four linear models used to explain the deviation of size distributions from two central metabolic scaling theory (MST) assumptions: the -2 exponent and the power law. This analysis is a repeat of table S5-1 but including the removed outlier heath site. For each assumption, we fit a model with environmental predictors and a model with community-weighted mean functional trait predictors—both explaining factors ignored by the theory. Adherence to the power law is measured as a goodness of fit (GoF) with a value of 1 indicating a perfect fit (i.e., a straight line when plotted on a log-log axis). Bold *P* values denote statistically significant slopes ($\alpha = 0.05$).

Coefficient	Estimate	Standard error	t-value	Р		
(a) Exponent model – environmental predictors ($R^2 = 0.43, P < 0.001$)						
Intercept	0.051	0.608	0.084	0.934		
Aridity index	-1.772	0.449	-3.946	< 0.001		
Fire frequency (binary)	1.500	0.541	2.771	0.010		
Soil sand content (%)	-0.012	0.009	-1.309	0.202		
Aridity index × fire frequency	-2.109	0.654	-3.222	0.004		
(b) Exponent model – functional tran	t predictors	$(R^2 = 0.22, P = 0.02)$	3)			
Intercept	-3.365	2.169	-1.552	0.133		
Maximum height (square root)	0.276	0.091	3.055	0.005		
Specific leaf area (log ₁₀)	-0.056	0.709	-0.079	0.938		
Wood density (square root)	0.016	2.341	0.007	0.994		
(c) Power law model – environmente	al predictors	$(R^2 = 0.09, P = 0.17)$	74)			
Intercept	3.436	1.409	2.439	0.022		
Aridity index	< 0.001	< 0.001	-1.693	0.103		
Fire frequency (binary)	1.376	1.254	1.097	0.283		
Soil sand content (%)	-0.022	0.021	-1.047	0.305		
Aridity index × fire frequency	< 0.001	< 0.001	-1.371	0.183		
(d) Power law model – functional trait predictors ($R^2 = 0.05$, $P = 0.223$)						
Intercept	-4.782	4.374	-1.093	0.284		
Maximum height (square root)	0.102	0.183	0.559	0.581		
Specific leaf area (log ₁₀)	2.879	1.430	2.014	0.055		
Wood density (square root)	3.204	4.722	0.678	0.504		

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Table S4-2. Model coefficients from linear models testing for relationships between metabolic scaling theory (MST)-predicted relative productivity (B_{tot}) and a remote-sensed measure of gross primary productivity. This analysis is a repeat of table S5-2 but including the removed outlier heath site. B_{tot} was calculated three different ways: (a) using the MST-assumed power law and -2 size distribution exponent (-2 exponent estimate), (b) using the power law and the actual exponent (actual exponent estimate), and (c) using neither the power law nor an exponent (actual size distribution estimate). Bold P values denote statistically significant slopes ($\alpha = 0.05$).

Coefficient	Estimate	Standard error	t-value	Р		
(a) -2 exponent estimate ($R^2 = 0.03$, $P = 0.192$)						
Intercept	4.512	1.317	3.426	0.002		
$B_{\rm tot}$ (log ₁₀)	0.533	0.398	1.338	0.192		
(b) Actual exponent estimate (R^2)	= 0.03, P = 0).166)				
Intercept	4.371	1.337	3.268	0.003		
$B_{\rm tot}$ (log ₁₀)	0.558	0.392	1.424	0.166		
(c) Actual size distribution estimate ($R^2 = 0.25$, $P = 0.003$)						
Intercept	-3.976	3.152	-1.262	0.218		
$B_{\rm tot}$ (log ₁₀)	2.634	0.810	3.250	0.003		

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Appendix S5. Model summaries.

Table S5-1. Model coefficients from the four linear models used to explain the deviation of size distributions from two central metabolic scaling theory assumptions: the -2 exponent and the power law. For each assumption, we fitted a model with environmental predictors and a model with community-weighted mean functional trait predictors – both explaining factors ignored by the theory. Adherence to the power law is measured as a goodness of fit, with a value of 1 indicating a perfect fit (i.e., a straight line when plotted on a log-log axis). Bold *P* values denote statistically significant slopes ($\alpha = 0.05$).

Coefficient	Estimate	Standard error	t-value	Р		
(a) Exponent model – environmental predictors ($R^2 = 0.49, P < 0.001$)						
Intercept	-0.405	0.313	-1.297	0.207		
Aridity index	-1.007	0.244	-4.120	<0.001		
Fire frequency (binary)	0.769	0.287	2.678	0.013		
Soil sand content (%)	-0.013	0.005	-2.801	0.010		
Aridity index × fire frequency	-1.016	0.355	-2.859	0.009		
(b) Exponent model – functional tra	it predictors	$(R^2 = 0.25, P = 0.01)$	6)			
Intercept	-3.748	1.139	-3.289	0.003		
Maximum height (square root)	0.125	0.051	2.456	0.021		
Specific leaf area (log_{10})	-0.013	0.372	-0.034	0.973		
Wood density (square root)	1.413	1.241	1.139	0.266		
(c) Power law model – environment	al predictors	$(R^2 = -0.040, P = 0$.582)			
Intercept	2.620	1.083	2.420	0.024		
Aridity index	< 0.001	< 0.001	-0.465	0.646		
Fire frequency (binary)	0.069	0.995	0.069	0.946		
Soil sand content (%)	-0.023	0.016	-1.494	0.148		
Aridity index × fire frequency	< 0.001	< 0.001	-0.101	0.921		
(d) Power law model – functional trait predictors ($R^2 = 0.24$, $P = 0.019$)						
Intercept	-5.487	2.774	-1.978	0.059		
Maximum height (square root)	-0.178	0.124	-1.431	0.165		
Specific leaf area (log_{10})	2.959	0.906	3.266	0.003		
Wood density (square root)	5.779	3.021	1.913	0.067		

McCarthy JK, Dwyer JM, Mokany K. A regional-scale assessment of using metabolic scaling theory to predict ecosystem properties. *Proceedings of the Royal Society B: Biological Sciences*. (doi: 10.1098/rspb.2019-2221)

Table S5-2. Model coefficients from linear models testing for relationships between metabolic scaling theory (MST)-predicted relative productivity (B_{tot}) and a remote-sensed measure of gross primary productivity. B_{tot} was calculated three different ways: (a) using the MST-assumed power law and -2 size distribution exponent (-2 exponent estimate), (b) using the power law and the actual exponent (actual exponent estimate), and (c) using neither the power law nor an exponent (actual size distribution estimate). Bold *P* values denote statistically significant slopes ($\alpha = 0.05$).

Coefficient	Estimate	Standard error	t-value	Р		
(a) -2 exponent estimate ($R^2 = 0.03$, $P = 0.177$)						
Intercept	4.352	1.384	3.144	0.004		
B_{tot} (log ₁₀)	0.576	0.415	1.386	0.177		
(b) Actual exponent estimate ($R^2 = 0.04$, $P = 0.153$)						
Intercept	4.205	1.404	2.995	0.006		
B_{tot} (log ₁₀)	0.602	0.409	1.471	0.153		
(c) Actual size distribution estimate ($R^2 = 0.26$, $P = 0.003$)						
Intercept	-4.363	3.233	-1.350	0.188		
$B_{\rm tot}$ (log ₁₀)	2.727	0.830	3.287	0.003		